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QUESTION 1

Your customer has reported that one of their FastEthernet clients is not getting the same throughput to their cluster as
other FastEthernet clients.

What would be the best troubleshooting step?

A. Verify the link is operating in full duplex mode

B. Verify the cable is plugged into the switch

C. Check for a link light on the port

D. Check for any sharp bends in the InfiniBand cable

Correct Answer: A

QUESTION 2

What element of the command syntax: "isi sync policies modify exam_policyl --log-level error" is "policies"?
A. Subcommand

B. Command

C. Argument

D. Action

Correct Answer: A

QUESTION 3

What is a piece of work delegated by the coordinator to a manager for execution by worker threads?
A. Atask

B. A phase

C.Ajob

D. An item

Correct Answer: A

QUESTION 4

Isilon support has requested that you upload logs from a large customer cluster. The customer is concerned because
the log gather they ran two days ago took 23 hours to run.
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How can you reduce the time it will take for a new gather to run?
A. isi_gather_info --incremental

B. isi_gather_info --http

C. isi_gather_info --noupload

D. isi_gather_info --skip_size_check

Correct Answer: A

QUESTION 5

During a cluster split which log file, on each node, does the cluster update?
A. Ivar/log/messages

B. /var/crash

C. lifs/data/lsilon_Support

D. varfjournal

Correct Answer: A
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